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Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions
1. Define Set.
2. Define Infinite set.
3. Find the distance between the points (4,7) and (-2,5)
4. Prove that the points (4,3), (7,-1) and (9,3) are the vertices of an isosceles triangle.
5. If A = 
[image: image1.emf] . Find 2A 
6. If A = 
[image: image2.emf] and B = 
[image: image3.emf]. Find AB
7. In how many ways can the letters of the word STRANGE be arranged so that the vowels may appear in the odd places.
8. A family of 4 brothers and 3 sisters are to be arranged for a photograph in one now. In how many ways can they be seated if all the sisters sit together?
9. Find the simple interest on ₹ 5,000 at 10% for 3 years. Find also the amount.
10. Compute the interest on ₹ 1,000 for 10 years at 4% per annum, the interest being paid annually.
11. Mention the 2 methods of description of sets.
12. Show that the points (6,6), (2,3), and (4,7) are the vertices of a right angled triangle.
SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. Write down the sets in tabulation method. 
1. The set A of all odd natural numbers less than 10.
2. The set B of all square numbers less than 100.
3. The set C of all roots of the equation 
[image: image4.emf]2
[image: image5.emf]
4. The set D of all prime numbers between 10 and 20.
14. Write down the sets in set – builder form. 
1. The set A of all English alphabets.
2. The set B of all months in a year. 
3. C = {3, 6, 9, ……..}
4. D = {1, 3, 5, ………}
15. Show that the points (7,9), (3,-7) and (-3,3) are the vertices of a right angled isosceles triangle.
16. Show that the points (4,-4), (-4,4) and (4
[image: image6.emf]) are the vertices of an equilateral triangle.
17. If A = 
[image: image7.emf] and B = 
[image: image8.emf] Find 2A + 3B.
18. A committee of three is to be chosen out of 5 Englishmen, 4 French men and  3 Indians, the committee to contain one of each nationality. 1. In how many ways can this be done? 2. In how many arrangements will a particular Indian be included?
19. Find the true discount and the present worth of a bill for ₹1,660 due in 9 months at 5% per annum.
SECTION C – (2 × 15 = 30 marks)
Answer any TWO questions 
20. Given that A = {0, 1, 3, 5}  B = {1, 2, 4, 7} C = {1, 2, 3, 5, 8} Prove that 
1. 
[image: image9.emf]
2. 
[image: image10.emf]
3. 
[image: image11.emf]
21. 
[image: image12.emf]
22. In how many ways can the letters of the word MOBILE be arranged so that the consonants always occupy the odd places?
23. A sum of money amounts to ₹ 20,800 in 5 years and ₹22,720 in 7 years. Find the principal and the rate of simple interest.
24. If A = {1,4}, B = {4,5} and C = {5,7}. Find 1. (
[image: image13.emf]and 2. 
[image: image14.emf]
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